Do all questions except 24.

Show all work.
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between the plates acts as a Incident light
thin film. How many bright
fringes will be seen by an ob-

server looking down through

the top plate? ssm
+s70 Two rectangular glass

plates (= 1.60) arc in contact  Fig. 3c.44  Problems 69,
along one edge and are sepa- 70,72 73, 74, 100, 114,
rated along the opposite edge and 121

(Fig. 35-44). Light with a wave-

length of 600 nm is incident perpendicularly onto the top
plate. The air between the plates acts as a thin film. Nine dark
fringes and eight bright fringes are observed from above the
top plate. If the distance between the two plates along the
separated edges is increased by 600 nm, how many dark
fringes will there then be across the top plate?

102 One it of a double-slt arrangement s covered by a thin
elass plate with index of refraction 14, and the other by a thin
glass plate with index of refraction 1.7. The point on the screen
at which the central maximun fell before the glass plates were
inserted is now occupied by what had been the m = 5 bright
fringe. Assuming that A = 480 nm and that the plates have the
same thickness 1, find (.

Hint: This problem is very much like Sample Problem 35-3

Dr.




